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RATIO AND PROPORTION

Examples Very Short Answer Type Questions Multiple Choice Questions

1. The ratio between the quantities 6 months and 1year 8 months is -

A.2:5

B.3:10

C.10:3

D.5:2


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ETOAKlJRIF0T

Answer: B

° Watch Video Solution

. . .z z .
2. The mixed ratio of the ratios —: z, Y :x and —:yis
Y z a

Al:xyz
B.zyz:1
C.z?y?2?:1

D.1: :I:2y2z2 .

Answer: A

o Watch Video Solution

3. The compound ratio of the inverse ratios of the ratios

bc ca ab
—:a%, —:b® and —:cPis-
a b c


https://dl.doubtnut.com/l/_ETOAKlJRIF0T
https://dl.doubtnut.com/l/_BHkT29yG68Tr
https://dl.doubtnut.com/l/_FoU8kI6cteIW

A.1:abe

B.1:a’b’c?

C.a:a’b’c?

D.abc:1

Answer: D

o Watch Video Solution

4 IfA:B=3:4,B:C =5:6 and C:D =7:8, then A:D =

A 3:8

B.35:64

C.8:3

D.64:35

Answer: B



https://dl.doubtnut.com/l/_FoU8kI6cteIW
https://dl.doubtnut.com/l/_du2ZZDuqC1HH

_ o Watch Video Solution

Examples Very Short Answer Type Questions True Or False

1. Write True or false :
(a) The duplicate ratio of 1: abis 1: a’b?

(b) The sub-duplicate ratio of 4:9 is 3:2.

o Watch Video Solution

Examples Very Short Answer Type Questions Fill In The Blanks

1. Fill in the blanks :

(a) The triplicate ratio of 2§ : 3§ is

° Watch Video Solution



https://dl.doubtnut.com/l/_du2ZZDuqC1HH
https://dl.doubtnut.com/l/_dz7H5S2mNV0x
https://dl.doubtnut.com/l/_n6j3mfvd5IZo

Examples Short Answer Type Questions

1. Express the following quantities as a ratio . Also write which of them
are ratios of equality, which are ratios of greater inequalities and
which are ratios of less inequalities :

(@) 4 months and 1 year 6 months , (b) 75 paise and 1 rupes 25 paise.

o Watch Video Solution

a b c
2. Find the mixed ratios of the ratios 3 ic, —:a, —:b.
c a

° Watch Video Solution

3. Calculate what ratio and 2 : yz will form the mixed ratio zy: 22.

° Watch Video Solution



https://dl.doubtnut.com/l/_Y0soUS9bQxn3
https://dl.doubtnut.com/l/_WkpznZ4IREYP
https://dl.doubtnut.com/l/_4DdtbbuTNgpP

4. Find the compound ratio of the inverse ratios of the ratios

z
:Izzzy—,yz:ﬁ and 22:
T (]

LY

o Watch Video Solution

5. Find the compound ratio of the ratios

(z+y):(z—y), (2> +9):(z+9)° and (22 —3?)": (' —y).

o Watch Video Solution

6.fA:B=2:3,B:C=4:5 and C:D = 6:7,then find A: D.

o Watch Video Solution

7.fx:y=2:3,y:z=4:7,thenfind x: y: z.

o Watch Video Solution



https://dl.doubtnut.com/l/_YeJ4xD6rVpew
https://dl.doubtnut.com/l/_hLONbTAVGJHc
https://dl.doubtnut.com/l/_fhCgP1ghPUiv
https://dl.doubtnut.com/l/_LgWcUorRQYSU

8.Ifx:y = 3:4,then find (3y — z): (2z + y).

° Watch Video Solution

9.f p:q=5:7 and p— q = — 4,then find the value of (3p + 4q).

o Watch Video Solution

10.1f (5z — 3y): (2 + 4y) = 11:12,thenfind z: y.

° Watch Video Solution

n. If (10z + 3y): (5x +2y) = 9:5,  then

(2z + y): (xz + 2y) = 11:13.

show

that

o Watch Video Solution



https://dl.doubtnut.com/l/_LgWcUorRQYSU
https://dl.doubtnut.com/l/_XZwoUfQuAZVS
https://dl.doubtnut.com/l/_Lt3TxBl6ymu7
https://dl.doubtnut.com/l/_031WUn7hSIXi
https://dl.doubtnut.com/l/_X3b9HHg7aw4W

12. What term should be subtracted each of the ratio a: b to make the

ratiom:n?

o Watch Video Solution

13. What term should be added to antecedent and subtracted from

consequent of ratio 4: 7Tto make a compound ratio of 2: 3 and 5:47?

o Watch Video Solution

14.I1’2 = 2 _ - 2a_3b+4c,thenﬁndthevalueofP.
2 3 4 P

o Watch Video Solution

3z — 5 1 3z2 — by?
15.If u = —.Then find the value of u
3z +5y 2 3x2 + by?

° Watch Video Solution



https://dl.doubtnut.com/l/_HUq96jl2O2KO
https://dl.doubtnut.com/l/_wEELksQy9Co9
https://dl.doubtnut.com/l/_jaDkzAp0bcfQ
https://dl.doubtnut.com/l/_vzYB4zce7fjF

16. If a:b=3:4 and z:y=5:7, then find the value of

(3az — by): (4by — Tazx).

° Watch Video Solution

17. If z, 12, y, 27 are in continued proportion, then find the positive

value of xand y.

° Watch Video Solution

18. If a:b=3:2 and b:c = 3:2, then find the value of the ratio

(a +b):(b+ c).

o Watch Video Solution

19. Find the mean - proportional of (a + b)® and (a — b)®.


https://dl.doubtnut.com/l/_vzYB4zce7fjF
https://dl.doubtnut.com/l/_KQlGUDlEpppC
https://dl.doubtnut.com/l/_jeNLMIsSIHQv
https://dl.doubtnut.com/l/_5eriJw5TCMHs
https://dl.doubtnut.com/l/_ZwsUTALBgbXA

o Watch Video Solution

Examples Long Answer Type Questions

3ar — by
1.Ifa:b=3:4 and z:y = 4:5, then find the value of ———
5by — Tax

o Watch Video Solution

2. What number should be added to each term of the ratio 2a: 3b so

that the ratio of the additions will be c: d?

o Watch Video Solution

T+ a

3. For what value of x, the duplicate ratio of 2
x+b b

o Watch Video Solution



https://dl.doubtnut.com/l/_ZwsUTALBgbXA
https://dl.doubtnut.com/l/_Q0nzZWReaBS9
https://dl.doubtnut.com/l/_g59gJD9jH93U
https://dl.doubtnut.com/l/_FZgTa33el1xG
https://dl.doubtnut.com/l/_BVSeVQZIxBvF

4. If the triplicate of the ratio (z +a):(z +b) is a:b, then prove

that > — 3abz — ab(a + b) = 0.

° Watch Video Solution

Examples Very Short Answer Type Questions Mcqs

1. The fourth proportional of 3,4 and 6 is

A.8

B.10

D. 24

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BVSeVQZIxBvF
https://dl.doubtnut.com/l/_QiWxAKtS4c5A
https://dl.doubtnut.com/l/_SpPBXJVwJE21

2.Third proportional of 8and 12 is

B.16

C.18

D. 20

Answer: C

0 Watch Video Solution

3. The mean - proportional of 16 and 25 is

A. 400

B. 100

C. 20

D. 40


https://dl.doubtnut.com/l/_SpPBXJVwJE21
https://dl.doubtnut.com/l/_9e5TF8SbnLuC

Answer: C

o Watch Video Solution

3
4.Ais a positive number and if a: o1 2 : a, then the value of a will

be

L
" 256

B.9

Answer: C

° Watch Video Solution

5.1f 2a = 3b = 4c,then a: b: c will be



https://dl.doubtnut.com/l/_9e5TF8SbnLuC
https://dl.doubtnut.com/l/_OVgumooCoA8Z
https://dl.doubtnut.com/l/_qDvRdswlsKAO

A3:4:6

B.4:3:6

C.3:6:4

D.6:4:3

Answer: D

o Watch Video Solution

Examples True Or False

1. The compound ratio of the ratios ab: ¢, bc:a® and ca:b* is 1:1

o Watch Video Solution

2. 2%y, 2%y? and zy? are in continued proportional.


https://dl.doubtnut.com/l/_qDvRdswlsKAO
https://dl.doubtnut.com/l/_r1tYOkyj6MrA
https://dl.doubtnut.com/l/_ha2lapU4TQDj

o Watch Video Solution

Examples Fill In The Blanks

1. If the product of three continued proportional positive numbers be

64, then their mean proportional is

o Watch Video Solution

2.Ifa:2 =b:5 = ¢:8,then 50% of a=20% of b = % of c.

° Watch Video Solution

3.1f mean - proportional of (x - 2) and (x - 3) be x, then the value of x is

° Watch Video Solution



https://dl.doubtnut.com/l/_ha2lapU4TQDj
https://dl.doubtnut.com/l/_HlpqEYPWXmgB
https://dl.doubtnut.com/l/_VRbNKfemQPGD
https://dl.doubtnut.com/l/_DyPusEPoeYRD

Examples Long Answer Type Questions

1. If a : b = C : d, then show

Vai+ /b +d? = (pa + qc): (pb + ¢d)

that

o Watch Video Solution

2.Ifz:a = y: b = z:c, then prove that

2 P 2B (zty+2)’
2tEta”

(a+b+c)

o Watch Video Solution

3.fz:a = y:b = z:c, then prove that

(a®> + 8+ ) (2> +y* + 2%) = (az + by + cz)’

o Watch Video Solution



https://dl.doubtnut.com/l/_DyPusEPoeYRD
https://dl.doubtnut.com/l/_7BXI4t7hWA2B
https://dl.doubtnut.com/l/_l24mZmADo26w
https://dl.doubtnut.com/l/_AkIwa0vwrcku

4, If a:b=c:d=ce:f, then prove that

(a®>+c+e*)(b*+d*+ f?) = (ab+cd + ef)2)

o Watch Video Solution

5.Ifa:b = b: ¢, then prove that

1 1 1
212 2 3 3 3
a,bc_ _+_+_ _a_|_b C
( b3 c3>

° Watch Video Solution

6.1f a:b = b: c, then prove that

abc(a + b + c)3 B
(ab + be + ca,)3

o Watch Video Solution



https://dl.doubtnut.com/l/_MmA4g26LdkIy
https://dl.doubtnut.com/l/_oZr3DUrBcdth
https://dl.doubtnut.com/l/_z7ls0lsIHI8b

7. If a, b, ¢, d are in continued proportion, then prove that

(b—¢c)’+(c—a)’+(b—d)® = (a—d)?

o Watch Video Solution

8. If % = then show that

(a+b)(a®+b")z® = (z

o Watch Video Solution

x z
= Y = , then prove that
Im—-—n2 mn-—07 nl—m?

9. If

lx + my+nz = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_6yzoEi2L2cDL
https://dl.doubtnut.com/l/_YJMpz63ZaMFv
https://dl.doubtnut.com/l/_Jz0bwPy0WopP

x B Y B z
b+c—a c+a—-b a+b—c

(b—c)z+ (c—a)y+(a—0b)z=0.

10. If , then show that

o Watch Video Solution

z a+2 z® — y? da
Mmif— = , then show that = .
y a—2 2 +y?  a?+4

° Watch Video Solution

8ab
a+

12.If z =

, then find the value of z +da + z+4b .
b r — 4a r —4b

o Watch Video Solution

a b c
13. If = = , then prove that
q—rT r—p b—4q

a+b+c=0=pa+gb+rec

o Watch Video Solution



https://dl.doubtnut.com/l/_xFaBSv2q2ZKt
https://dl.doubtnut.com/l/_GxdlwIaKE0Sj
https://dl.doubtnut.com/l/_dhlVGSYTvuOZ
https://dl.doubtnut.com/l/_vLe0FZz23gEv

arx +by bz —ay
a

14. If

, then show that each ratio is equal to x..

o Watch Video Solution

a+b c+d

15. If = , that that
" it a a prove a

c=a or, a+b+c+d=0.

o Watch Video Solution
16. If r _ y -z , then show that
b+ec c+a a+b
a b B c

yt+tz—= z+x—y_93+y—z'

o Watch Video Solution



https://dl.doubtnut.com/l/_vLe0FZz23gEv
https://dl.doubtnut.com/l/_uoJGzxSbLAuC
https://dl.doubtnut.com/l/_kOMknepGAX2K
https://dl.doubtnut.com/l/_omuZmDVZHlMx

17. If Ty - tz == T , then show that
3a —b 3b—c 3c—a
rT+y+z ar+bytecz
atbtc a?+b+
° Watch Video Solution
r Yy oz 22 —yz Yy —zx 22— =xy
18.If — = — = —, then show that = =
a b c a? — be b2 — ca ¢z —ab
0 Watch Video Solution
19. If

(a+b+c+d):(a+b—c—d)

,then prove thata:b = c:d.

(a—b+c—d):(a—b—c+d)

o Watch Video Solution



https://dl.doubtnut.com/l/_UplGlVr1Vgsy
https://dl.doubtnut.com/l/_HnuVHRjdu4FT
https://dl.doubtnut.com/l/_yd2fqRjRWmk1

a? b2 c?
20- If — = =
b+ ¢ c+a a-+b
1 N 1 n 1 e
l14a 14b 1+4+c¢

1, then show that

o Watch Video Solution

21.If 2% (by + cz) = y*: (cz + azx) = 2*: (azx + by) = 1, then show

a b c
that + + = 1.
a+t+zx b+y c+ z

o Watch Video Solution

22, If

Z . Yy . z

ra+yb+zc ya+zb+xze  za+ xb+ ye
1

a+b+ec

and x +y+2#0

,then show that each ratio =

o Watch Video Solution



https://dl.doubtnut.com/l/_4hL82LUer1rb
https://dl.doubtnut.com/l/_olXBioVpNWqp
https://dl.doubtnut.com/l/_Z7sXDZctkDyP

23. If @ _ b - _¢ , then prove that
Y+ z zZ+x r+vy
a(b—c) blc—a) c(a—Db)

y2—z2 22 _ p2 x2_y2

o Watch Video Solution

b a+c—b a+b+c
24, If = = h b 0),
a-+b b+c—a 2a+b+2c(werea+ te70)
th that & b _ €
en prove that o = = = —.

o Watch Video Solution

x Y z
25. If = = , then prove that the value of each

Y+ z z+x Tr+y

- 1
ratio is equal to 5 o (—1).

° Watch Video Solution

Exercise 2 1 Very Short Answer Type Questions Mcgs



https://dl.doubtnut.com/l/_QcHxJ683RDVU
https://dl.doubtnut.com/l/_QqbWuQFw7asX
https://dl.doubtnut.com/l/_BuKQblfzBMzg
https://dl.doubtnut.com/l/_gqvmn4p4GHYn

1. The ratio between the quantities 1.5 kg and 80 gms is -

A.4:75

B.75:4

C.2:25

D.4:25

Answer: B

° Watch Video Solution

2. The ratio between the quantities 15 dcm and 15 mm is -

A.100:1

B.1:1

C.1:100

D.2:25


https://dl.doubtnut.com/l/_gqvmn4p4GHYn
https://dl.doubtnut.com/l/_p1reAMkpglkG

Answer: A

o Watch Video Solution

3.If z:y = 1:2,then the value of the ratio (z + 2y): (2z + 9y) is -

A 3:1
B.4:5
C.1:4

D.5:4

Answer: C

o Watch Video Solution

4.If (7Tx + by): (3z + 9y) = 5:7,thenz:y=


https://dl.doubtnut.com/l/_p1reAMkpglkG
https://dl.doubtnut.com/l/_26t24rvPjDUP
https://dl.doubtnut.com/l/_W9fV89VIHMUv

A 17:5

B.5:11

C.5:13

D.5:17

Answer: D

o Watch Video Solution

Exercise 2 1 True Or False

1. Write true of false :
(a) The compound ratio of the ratios zy: 22> and z:y is z:z.

(b) The sub - duplicate ratio of the ratio \/E: \/5 is a:b.

o Watch Video Solution



https://dl.doubtnut.com/l/_W9fV89VIHMUv
https://dl.doubtnut.com/l/_Dh1l7j3LsYh7

Exercise 2 1Fill In The Blanks

1. Fill in the blanks :
(a) The bus-triplicate ratio of the inverse ratio of 27: 64 is

(b) The compound ratio of the inverse of the ratio

(z+y):(z—y) and (2* —¢?):(z+y)°

o Watch Video Solution

Exercise 2 1 Short Answer Type Questions

1. Express the following quantities as ratios and also write what type

of ratios they are :

(a) 1 - 2 kg and 60 gms.
(b)60cmand 0 - 6 m

(c) 1month 15 days and 25 days.

(d) 10 dcm and 10 mm.

| e |


https://dl.doubtnut.com/l/_uNpMa6rc44fI
https://dl.doubtnut.com/l/_BzOKnNyIw0Be

| &J Watch Video Solution

2. What is the ratio of p kg and q gms ?

o Watch Video Solution

3. (a) Find the compound ratio of the ratios zz: y2 and z%: yz.

(b) Find the compond ratio of the ratios a: 2b, 2b: 3cand c: a.

° Watch Video Solution

4, (a) If x:y=3:4, then find the value of the ratio
(22 + y): (92 — 2y).
(b) If z:y=25:4, then find the value of the ratio

(a:2 + a:y) : (:132 — a:y)

o Watch Video Solution



https://dl.doubtnut.com/l/_BzOKnNyIw0Be
https://dl.doubtnut.com/l/_MUZhS4ns1bIZ
https://dl.doubtnut.com/l/_4GyY293m3FEa
https://dl.doubtnut.com/l/_wiPYbd4MHwZ1

5.(a) If (92 — 3y): (3= + 4y) = 21:32, thenfind z:y.

(b) If (3z + Ty): (bx — 3y) = 5:3, thenfind z:y.

o Watch Video Solution

Exercise 2 1 Long Answer Type Questions

: rTta . a
1. For what value of x, the duplicate of is —?
x+b b
o Watch Video Solution
- T+a ., a
2. If the triplicate of is — , that show that
z+b b

2 — 3abxz — ab(a + b) = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_lk3BeS3WN87W
https://dl.doubtnut.com/l/_qtsWXFn0ORwj
https://dl.doubtnut.com/l/_NeGkPc3jR0VB

3. What term should be subtracted from the terms of the ratio c: d so

that the ratio of the results of subtractions will be a: b ?

° Watch Video Solution

4. The ratio of two numbers is 11:13. If 3 is subtracted from each
number, the ratio of the results of the subtractions is 5: 6. Find the

numbers .

o Watch Video Solution

5.1f 1 is added to each term of a ratio, it becomes 2:3 and if 4 is
subtracted from each term of the ratio, then it becomes 1: 2. Find the

ratio .

° Watch Video Solution



https://dl.doubtnut.com/l/_1duwOa6zdtWl
https://dl.doubtnut.com/l/_rtIyQEXPztoW
https://dl.doubtnut.com/l/_NfPxUNXDodXc

Exercise 2 2 Very Short Answer Type Questions Mcqs

1. The fourth proportional of 4,6, 10 is

A.10

C.20

D. 22

Answer: B

o Watch Video Solution

2.The third proportional of 8 and 12 is

A.18

B. 20


https://dl.doubtnut.com/l/_AauO6bn9Kv3n
https://dl.doubtnut.com/l/_I1v34m24sTI4

C.22

D. 24

Answer: A

° Watch Video Solution

1

1
3. The mean - proportional of 3 and 3 is

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_I1v34m24sTI4
https://dl.doubtnut.com/l/_BFAw3ZVJS0HC
https://dl.doubtnut.com/l/_y8I8iVhKKbNc

4.The mean - proportional of (a + b)> and (a — b)’is
A +(a + b)?
B.+(a — b)?
C.+(a + b)

D. + (a2 — b2)

Answer: D

o Watch Video Solution

5.The fourth proportional of x — v, 2 — y2 and z% — Ty + y2 is

Ax+y
Brx—uvy
C.:z:g'-|-y3

D.z° —y°.


https://dl.doubtnut.com/l/_y8I8iVhKKbNc
https://dl.doubtnut.com/l/_tpSIYOxgeUUE

Answer: C

0 Watch Video Solution

6. What quantity should be subtracted from each of the numbers a, b,
c and d so that the results of the subtractions are in continued

proportional ?

ab — cd
"a+b+c+d
ad — be
B.
a—b—c+d
c ad — be
"a+btc+d
ad — be
D.
a—b—c+d
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_tpSIYOxgeUUE
https://dl.doubtnut.com/l/_U0PHIMIbjNzr

7.The sub-duplicate ratio of (7 + 44/3): (7 — 4,/3) is

A (7T4+4y3):1
B.(7—43):1
C.4y/3:1

D. None of these.

Answer: A

° Watch Video Solution

8. The sub-triplicate ratio of the ratio (7 + 5v/2) : (7 — 51/2) is

A—(3-2v2):1
B.(3+2\/§):1
C.—(34+2v2):1

D. None of these.


https://dl.doubtnut.com/l/_bA96FokXCJCX
https://dl.doubtnut.com/l/_z4hJ9uYacQdw

Answer: C

o Watch Video Solution

9. The mean - proportional of 2y and yz? is

A. xyz
B. —xyz
C.tzyz

D. :I:ac2y2z2

Answer: C

o Watch Video Solution

1 1 1 1
10. The triplicate ratio of the ratio z3y3 : y323 is


https://dl.doubtnut.com/l/_z4hJ9uYacQdw
https://dl.doubtnut.com/l/_U70y7QtqiB5d
https://dl.doubtnut.com/l/_E3vXNYEfP4xb

Answer: A

o Watch Video Solution

Exercise 2 2 True Or False

1. (a) The mean-proportional of a

2

3 and % is =+ (abe).

(b) The third proportional of a and Vb is %.

° Watch Video Solution

Exercise 2 2 Fill In The Blanks


https://dl.doubtnut.com/l/_E3vXNYEfP4xb
https://dl.doubtnut.com/l/_VLHVUjp7cdZe

1. (a) The fourth-proportional of 8,10 and 12 is

_ VBa+VBb— Ve

a

(b) The value of p when

b
V3 VB VT p

o Watch Video Solution

Exercise 2 2 Short Answer Type Questions

1. Find the mean - proportional of ( — 3) and ( — 27).

° Watch Video Solution

2. Find the third proportional of x and , /y

o Watch Video Solution



https://dl.doubtnut.com/l/_m2uUEFuRCPyq
https://dl.doubtnut.com/l/_CpdRHnKBGwRc
https://dl.doubtnut.com/l/_O9zzFSfWgCaS

3. What number should be added to the numbers 6, 7, 15 and 17 so

that the results of the additions are in continued proportional ?

o Watch Video Solution

4.Find the fourth proportional of v/2, /3, /5.

o Watch Video Solution

5. Find the value of
a b ¢ Vaa- B+
V2 V3 45 p '

P,

when

o Watch Video Solution

6. If —, then find the value of

2a — 3b _ 1 2a3 — 3b3
2 +3b 3 2a3 + 3b3

° Watch Video Solution



https://dl.doubtnut.com/l/_KjqIbmUUl3fY
https://dl.doubtnut.com/l/_6fpvXMi9gDer
https://dl.doubtnut.com/l/_u2iJllZdLiP6
https://dl.doubtnut.com/l/_YlYIb9hx50xS

7.0f Ja: /b= /3:/2 and +/b:/c = 1/3:4/2, then find the value
of (va + vB): (VB + y3).

° Watch Video Solution

8 If a:b=4:5 and z:y=5:7 then find the value of

(baxz — 3by): (by + 2azx).

o Watch Video Solution

9.Ifa:5="5:2=2c:25, then 20% of a=50% ofb-=

% of c.

o Watch Video Solution



https://dl.doubtnut.com/l/_YlYIb9hx50xS
https://dl.doubtnut.com/l/_NQDibBYb7HK0
https://dl.doubtnut.com/l/_IP4joc18YjyY
https://dl.doubtnut.com/l/_X9RDVUSbkgbd

8
10. If a be a positive number and ¥a: 217 = 5:\/5, then find the

value of a..

o Watch Video Solution

Exercise 2 2 Long Answer Type Questions

1. If a:b=c:d , then prove that

(a+¢):(b+d) =a® —2: /b — d?

o Watch Video Solution

2. If
(a+b+c+d)(a—b—c+d)=(a+b—c—d)(a—b+c—d),

then prove thata:b = c:d

o Watch Video Solution



https://dl.doubtnut.com/l/_gOwx70rZixkb
https://dl.doubtnut.com/l/_R3XzrJlGHqON
https://dl.doubtnut.com/l/_7eTEFAAapbnP

zyz(z +y + 2)°

x
3.f — = Y , then simplify 3
C (xy + yz + zx)

o Watch Video Solution

a c

4, If > = ) = ?, then show that each ratio
B la™ + mc™ + pe” 7
— " + md" + pfr
° Watch Video Solution
5 If a_ E = £ then rove that
b ¢ d P
(a®> + b8+ ) (b* + & +d*) = (ab+ beed)’
° Watch Video Solution
6. If r - Y __Z then prove that

b+c c+a a+b’
(b—c)z+ (c—a)y+ (a —b)z=0.


https://dl.doubtnut.com/l/_xEMTWlaHVLFI
https://dl.doubtnut.com/l/_KBcQN64udcUg
https://dl.doubtnut.com/l/_VQtsrkEQzOEh
https://dl.doubtnut.com/l/_Xpsx6tdTIOgX

o Watch Video Solution

b
7.1f b—(lz—c = T4 a—cl—b and a + b+ ¢ # 0, then prove that

a=b=c.

o Watch Video Solution

8. If
ay—br cx—az bz—cy x Yy oz
= = , thenprovethat — = —- = —.
c b a a b c
o Watch Video Solution
a c
9. If 3= E,then show that
b d\’
bd(a;)L +c; ) — 4(a + b)(c + d)

o Watch Video Solution



https://dl.doubtnut.com/l/_Xpsx6tdTIOgX
https://dl.doubtnut.com/l/_ypJwJqPzvuFe
https://dl.doubtnut.com/l/_y7gUdVVDb9RY
https://dl.doubtnut.com/l/_Cm8nXBgHnaik
https://dl.doubtnut.com/l/_uz93kGEGjJu9

10. If
y+z—=z Z+zxT—y T+y—=z Y z
= = then prove that -~ = =
b+c—a ct+a—2> a+b—c’ P b c
o Watch Video Solution
1. If T _ g = E, then show that
a b c
3 3 3 3
z r+y+z
LA S [
a> = b 3 a+b+c
° Watch Video Solution
12. If a:b=c:d , then prove that the - proportional of

(a®* +¢*) and (b*+d*) is (ab+ cd).

0 Watch Video Solution



https://dl.doubtnut.com/l/_uz93kGEGjJu9
https://dl.doubtnut.com/l/_mQMEYPfwAv40
https://dl.doubtnut.com/l/_Yhy5QzbpJO9i

13. |If m = Y = id , then show that
Im — n? mn — [2 nl — m?2

lx + my+nz=0.

o Watch Video Solution

14. If a:b=2x:y, then show that
3

a+b

3

Tr+y

(a2+b2): ::(:1:2+y2):

° Watch Video Solution

VZ _ a+V2 T —y

15. If = , then find the value of .
VY a—+2 Tty

° Watch Video Solution

16.If% = g = %,then show that (@ — b)*: (b — ¢)® = a: d.

o Watch Video Solution



https://dl.doubtnut.com/l/_tAL6JITl99R6
https://dl.doubtnut.com/l/_Oupy7RwLYPbY
https://dl.doubtnut.com/l/_mQ0UhGP87Ozu
https://dl.doubtnut.com/l/_SXN9CYpJXFPk

b 3a—c—0b —a + 3¢
— = h
a-+b 2b+c¢c—a 2a_b+3c(werea+b—|—c7é0),

17. If

then provethata=b=c.

o Watch Video Solution

a+b  +vac+ ad+bc+ bd

18.1f a: b = c:d, then prove that = .
a—>b vac — ad — be + bd

o Watch Video Solution

bz + ¢ ay + bx
y_ & _;; @ _ , then prove that
a c

T B Y B z
a(b® +c—a?) b +a2-0b) cla®+b —c)

19. |If

° Watch Video Solution



https://dl.doubtnut.com/l/_SXN9CYpJXFPk
https://dl.doubtnut.com/l/_AaJT70Ppunlw
https://dl.doubtnut.com/l/_gK6I29Dc6c0R
https://dl.doubtnut.com/l/_QYZFhQeDHszH

